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Instructions: The first 15 minutes are allotted for the examinees to read the
question paper.
General Instructions — (i) Each question is compulsory.

(i1) The question paper consists of two sections.
(ii1) Section 'A" and Section 'B' and Section 'A' have 20 * multiple choice
questions to be answered on the O.M.R sheet and Section 'B' contains descriptive

questions of 50 marks.

Tgos (F)
(CREETSIRRED)
1. TH TR {07 STaaet SUT & Fehal % A I §Y SUIT 3 Y8 W IR SRt § | TR
10T T A BTT-
A ray of light is incident on the surface of the mirror through the centre of
curvature of a concave mirror. The value of the angle of reflection is 1
(a) 60°.
(b) 0°
(c) 90°
(d)120°
2. TRt a%g o1 Stmatda Fedie Ao a9 dedl o- 1
(a) ITA <G T
(b) I TUUT T
() 3raaet gUl I
(d) (a) 3R (c) =

A magnified imaginary image of an object can become:
(a) By convex lens
(b) By Convex Mirror



(c) By Concave Mirror
(d) Both (a) and (¢)
3. & v i fRr & e { R |, R o1 % o e e aeme 1
(a) A @1 o forg
(b) 9t T1 o 1w
(c) BT % fog
(d) et &1 % forg
When a ray of white light passes through a prism, the deviation will be
minimum for which colour?
(a) For the red color
(b) For yellow
(c) For green
(d) For blue
4. T ¥ TG U1 T ER-87 SATSRaR BIaT 87 1
(a) I gUUr
(b) ¥FEaer Tqur
(c) THa=t g4
(d) T | F TE
Which of the following mirrors has the highest field of vision?
(a) Convex Mirror
(b) Concave mirror
(c) Plane Mirror
(d) None of these
5. Tl st # o1 o waTE B R- 1
(a) FCRAT BT
(b) e[l g1
(c) &t 51
(d) =79 & L &
A current flows in a conductor
(a) by electrons
(b) By Protons
(c) By neutrons
(d) None of these
6. Tordll aitay & w1 TorvarR 1 fRR & g aiay & ufae i fov[T o fean ste At
Ry # oI B SIE- 1
If the resistance of a circuit is tripled while keeping the potential difference

constant, the current in the circuit will be:



(a) TrTt
(b) SR
(c) T =ram
(d) u= et
. WRA ® USRI 9T (ToHio) Y Al SR B- 1
The frequency of AC supply in India is:
(a) I B
(b) 50 &
(c) 60 T&
(d) 100 &&=
. IO F IUER FA & o0 FF § ¥ TFT Sieie 1 ST 2 82 1
CRCERIECN®IREIEED!
(b) T=fere
(c) UATTSITEe ( HSTR)
(d) TErafe (it )
Which of the following drugs is used to treat indigestion?
(a) Antibiotic
(b) Antacids
(c) Analgesic
(d) Antiseptic (Resistant )
. @M S TR IS I1 1 qell A16 & el ol W edl 39! 7 § 16 1
(a) IS 90 & el Il 2 |
(b) 3o 90 TE & TEl A W@ |
(c) 3o o ®
(d) Z67 90 e | el T2 |
If the bottom of the utensil is turning black from outside while cooking, it
means that
(a) The food is not fully cooked.
(b) The fuel is not burning completely.
(c) Fuel has arrived

(d) The fuel is burning completely.

10. @1 % Tl R S it 9 o7 1 i gan @ Fatr 1

(a) o1 &1 aren S wem &

(b) f&=1 =t srae ik o1 Tt SAfere @
(c) f&s1 i srven Rk siferes sfwframeiiar ©
(d) T & rven S Fo afframe &

Instead of zinc, the food is coated with tin because



(a) Zinc is costlier than tin
(b) Zinc has higher melting point than tin
(c) Zinc is more reactive than tin
(d) Zinc is less reactive than tin
1. T A, B, C, D & A& =g+ fqwa A +0.60, — 0.35, — 1.50, - 2.71 AE 7 |
T st Brareier a2 | i
The standard reduction potential of elements A, B, C, D are +0.60, — 0.35,
-1.50, - 2.71V, respectively. The most active element will be.
(a) A
(b)B
(c) C
(d)D
12. TR HIEhE &l G § 1
The formula of calcium phosphate is
@ Ca (PO3)»
®) Ca3 (PO4):
(c) CaPO4
@ CaP20y4
13. o srffsranstt § ot & fafvma & 7 Afes a9 &, I e S & 1
(a) AT ATHTRAT
(b) YT Aq=e ATHTRAT
(c) AR ATATHAT
(d) T sifutra
The reactions in which new compounds are formed by the exchange of ions
are called:
(a) Substitution Reaction
(b) Amphibious decomposition reaction
(c) Additive Reaction

(d) Bidisplacement Reaction

14. ol # @ 9 oA 7= 82 1
(a) FkT
(b) I
(c) WRIaTHH
(d) 7t =i
Which of the following is not heterotrophs?
(a) fungus
(b) yeast



(c) Tapeworm
(d) Money Plant
15. T (PR ) R gewdt # ar &R A §
(a) I aifers o
CEREECE
(c) I e o
(d) arfe ferr
Pulmonary vein opens or brings blood
(a) In the right atrium
(b) In the left atrium
(c) In the left ventricle
(d) In the right ventricle
16. -V TIGT SR HIRIEH A H TEE0F o7
Which plant hormone helps in cell division?
(a) ATECHRTEAA
(b) sfifera=
(c) ufsufEF ufee
(d) ufared
17. Fufifea § FF-3 9f 9fR: T sra-amet 31 | 2
(a) Toeged 99
(b) AR Ut
ORIBEERR
CIRSEERIE]
Which of the following glands is both exocrine and endocrine?
(a) Pituitary gland
(b) Pancreas gland
(c) Thyroid gland
(d) Adrenal gland
18. Hueet WE &-
(a) SATIATIRAT & & H
(b) EroTATo F1 @S o fory
(c) Gomfeht < ferg
(d) Sta-fafaerar & Reqor % forg
Mendel is famous-
(a) In the field of heredity
(b) For DNA discovery

(c) For Esolicitation



(d) For conservation of biodiversity
19. e (Budding) R Aot S FHferiea & & fF Stwg & grar &2 1
(a) IR
(b) fererereT
(c) e
(d) BrEgr
Asexual reproduction by budding occurs in which of the following animals?
(a) pigeon
(b) cockroach
(c) earthworm
(d) Hydra
20. 5= oy @reqor @ 1
(a) ST T
(b) SIS AT
(c) SIS q1&Y
(d) Saret
Bifertilization is a special feature

(a) Animals

(b) Angiosperm plant
(c) Gymnosperm plant
(d) Algae
gug g : OIS U
IqEE ()

Section 'B' : Descriptive Questions
Sub-clause (a)
g AT uA: Short Answer Questions:
1. IadA YT o GG TRUT g% B Ui o1 a1 [0TSR T eI shiterg 3R Wehfd
AT, STk a%q ol AT

(i) Tehdl & | A8 U W, IT =< T qehal vk oh 9 @l

(ii) Fehal s T,

(iil) TohaT & TUT T o o H,

(iv) ThIshY AT TYUT o g9 o 9 & | 4
Show the formation of image in the object facing a concave mirror with the
help of ray diagram and indicate the nature while the position of the object

(1) at a greater distance from the centre of curvature, or between infinity and

centre of curvature

(ii) At the centre of curvature,



(iii) between the centre of curvature and the focus,

(iv) Between the focus and the pole of the mirror.

2. T U5 & T o Adea shi Toha ot G0 FHems | SToae ahior qe fersrer i oo
¥ feEm | 4
Explain the action of refraction of light through a prism with the help of

diagram. Show the angle of incidence and angle of deviation in the figure.

3. IE TR0 % 3T 60 Uiy & 9 Uiaieshi @ [FT TR At sl Tk UTH ST
PIRRE)
(1) 9 Q, (ii) 4 Q&1 4

Show how you would connect three resistors of resistance 6Q so that

resistance of the combination obtained
(i) 990, (i) 4 Q .
EISGASHNRRE
Detailed Answer Questions
3. A A5 TRETE! ATeish JHRehd &7 o (i) THWR, (ii) THad, (iil) 60° T 0T FA1d g4
W@ ™ 1 FAh T A ATl 96 G [l | 6

If a current-carrying conductor is placed at an angle of (i) parallel, (ii)

perpendicular, (iii) 60° of the magnetic field, write the formula for the
force acting on the conductor.

JAYdT(or)
HTE =3 o W@ 9T 3T GO hitoTy | oRet 3% ol AFE 4 9 ATdierd a1 ool 3T
FR T I | 6

Describe the major parts of the human eye. Explain the image of an object

to be seen by human eye with the help of ray diagram.
I9@vs (@) Sub-clause (b)
g AN uA: Short Answer Questions:
1. T AT S I (Faet T GHIT i | 2+2
. TR o, QIfeaw FEe & ATHERT Fe ¢ |
II. Toier 9ot i R a9 aowrieer ot 9 2t 7 )
What happens when (Write only the chemical equation.)
III.  Ethanoic acid reacts with sodium carbonate.
IV.  The action of bleaching powder is with dilute sulphuric acid.
2. I AT & 9 HR A B FI [Gook A15ee foerad # s &2 2
What happens when copper rods are put in silver nitrate solution?
3. Tmfciad et & TRarEs g oRau- 1+1
[ 2-TEgiE WuAEs o
. e vt




Werite the structural formulae of the following compounds:
I[II.  2-Hydroxy propanoic acid
IV.  Methyl acetylene
g ITF 99 Detailed Answer Questions
4. TTESIHTEH i T SATHRAT ) qigm fewol forat | 24242
Werite a short note on the combustion reaction of hydrocarbons
5. QIEHTRLT T Gier ool foffe |
Werite a short note on soaping.
6. TAATTA qUT Woid # =R WEEy |
Explain the difference between salvage and discharge.
0
SAITNT TISER ol TEATeh ATH, T %l {918 T Teh TR I[07 [l | Feierd ST
AT | Toristeh <07 o &1 ST fefterg | 6

Werite the chemical name, method of preparation and a chemical property of

bleaching powder. Give the related equation. Write two uses of bleaching

powder.

I9@UE () Sub-clause (c)

g AN UA: Short Answer Questions:

7. ATl qAT ST 99 | s &l =R ey | 4
Werite any two differences between oxy and anoxic respiration.

8. HYHE I U o {oTT TR ST 1 AT TAT T Scoi- e aTel 3T 1 A9 FJasy | 4
Name the hormone responsible for diabetes disease and the organ which emits
it.

9. qTegad &l F1 A €2 IaTevl died WY | 4
What is mean by regeneration? Explain with examples

farega ST 9K Detailed Answer Questions
10. T o 1 o7 22 s # o [eior e weR gran €2 Yt i gerr 9
HHHARU | 6

What does sex chromosome mean? How does sex determination take place

in human beings? Explain with the help of diagram.
FYdT(or)
HIe Ai&Teh ol AR = SH150 qerm Fiar | 9o iy | 6

Draw a labelled diagram of the human brain and describe it briefly.



